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QUESTION 1

A company wants its x64 Linux backup data sent directly to ECS. Which supported and most efficient configuration
would you recommend for this environment?

A. Use a NetWorker storage node to receive x64 Linux Networker client data and send it to ECS

B. Use a CloudBoost appliance as a NetWorker storage node to receive x64 Linux NetWorker client data and send it to
ECS

C. Use Client Direct on the x64 Linux NetWorker client to send data to a CloudBoost appliance and then transfer it to
ECS

D. Use Client Direct with CloudBoost agent on the x64 Linux Networker client to transfer data to ECS

Correct Answer: A

QUESTION 2

Which process allows ECS to reconstruct objects within a storage pool, if that pool loses a disk?
A. Full mirrored replication

B. Chunk management

C. Erasure coding

D. XOR operation

Correct Answer: B

QUESTION 3

You are configuring a NetWorker CloudBoost solution using ECS as LTR backup. When adding the CloudBoost
appliance in the Dell EMC Cloud Portal, the configuration fails and shows the following error:

Operation Completed with errors. Could not apply initial configuration. Reason: Validation failed; cloud profile is invalid
What is causing this error?

A. Claim code is invalid when registering the CloudBoost appliance

B. ECS object access S3 password does not match ECS access key

C. Display name is set incorrectly for the ECS Cloud Profile

D. ECS access key ID does not match object user name

Correct Answer: A
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QUESTION 4

Which tab would a user select in the ECS portal to configure ESRS?
A. Settings

B. Manage

C. Dashboard

D. Connections

Correct Answer: A

QUESTION 5

A storage administrator is trying to create a new bucket using s3curl.pl. They use a URL pointing to their load balancer.
The SSL connection is terminated on the load balancer.

What port number should be used at the command line?
A. 9020
B. 9021
C. 9023
D. 9025

Correct Answer: A
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